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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :

1x10=10
wore faa eppiyzd Beq faofarga® s
(a) Choose the correct answer :
X% Teach! AR Bferedr ¢

When. aggregate economic activity is
increasing, the economy is said to be in
feur AT AT IR I WO,
cofon Wi | |
(i an expansion
SRR W06
(i) a contraction
SECRIToA WO
(iii) a depression
SIS
fiv) None of the above .
877 OIS T
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(b)

(c)

(@)

(e)

A9/860

(2)

Choose the correct answer :

% TGI0H! 1R Sfereq

A cause of inflation is

TUrHied I99 27

(i) increase in money supply

RS R @

(i) increase in money supply and fall
in production
A JER @ W Teoe g

(ifi) only for all of production
e BT Z

(iv) decrease in money supply and
increase in production .

R 7 @ o 3RS Teomm

Write one important factor which is
responsible for demand-pull inflation.

oiinEfe [Erdfey 9B ey IR AW
foram |
What does IS and LM curve stand for?

IS W% LM G331 & 3pm 2.

Fill in the blank :
413 5% MR ALE
MV+ MV _
- T —
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(3)

(/i What does a vertical IS curve mean? .

9o Tog 1S @91 R opm 2

{g)  Choose the correct answer :
W% TG0 IR Sferea -

The . simultaneous- .increase in
unemployment and prices is called

ﬁﬁmwwmequ‘ﬁ@mwﬂﬁ

TR

(i) hyperinflation
e ‘{Er@f:‘

(@) stagﬂatlon ‘ .
X M

(i) deflation

(iv) None of the above

8T OIS T

(h) Fill in the blank :

RLEC T

- The LM curve shift to the right when the
stock of the money supply is

afem @R @y L ., cefem LM
@RICE Cfrere ARTes w1
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(4)

(i Write Yes or No :
=] A Ay o
According to Fisher—“The increase in
money supply always lead to a
proportional increase in general price
level”.
T Too—* R Q151 e S e -
S AR 71 T4 @ IR

(), Choose the correct answer :
w7 eIl MR Tfeeq -

The Recession phase of Trade cycle is
characterized with

wﬁmmm‘ﬁmm

(i) low level of investment, low level of
production and low level of
employment
A Rffans, g Seerm o g Fane =

(ii) high level of investment, high level
of production :and high level of
employment ;

Tw Rfvc, % Sedm L
@ S

(iii) high level of investment but low
level of production and employment
T fifans f?ra T S AW
o =

" (iv) None of the above
@9RT 4GOS T
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(S)

2. Answer the following questions : 2x5=10
were firal eppTEd el fd

(a) What are the .phases of business cycle?
fen v&s BIER & {52

(b} Write the basic differences between
demand pull and cost push inflations.

mﬁmﬁﬁ—wmﬁ@‘{m@ﬁwmﬁﬁ
NPTz fort 1

(c) In Fisherian version of quantity theory of
~money, what does P, M vV, M’ and v’
" stand for?

FgRT @R ﬂﬁwr P M vV, M’ SI%
v’ P
(d) What are the factors that determine the
" slope of the IS curve?

IS @R o el 9 I 3 e

(e) - Give two criticisms of Hicks multiplier
accelerator . interaction theory of
business cycle.

ﬁﬁﬁmﬁwmewwqﬁﬁﬁmmiﬁ
SIS SCE A |
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(6)

. 3. Answer the following questions : Sx4=20
weTe fa eppgRy Be i
(a) Show how IS curve will change as a

result of increase in Government
Expenditure.

wﬁmﬁw—lsmww
=, (ST
| or / g

Explain the factors ﬂiat.determine the
slope of the IS curve.

IS YR B fiefer 41 FIRIIR I 9 |

(b) Explain briefly the different phases of
business cycle.

| WW%WWWWI
Or/ g3

Explain briefly the features of business
cycles. o

o e GBI B 0 |

(c)  Will a doubling of money supply always
lead to a doubling of genera.l pnce level?
Explain, bresed
e Qe Rgq I SR MaRT [ BT
fagq Jfa TomeT 2 0 40|
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(7)

(d) Write short noteson
L2 o fora
(ij Depression
Rack 2l
(i) Structural inflation

513717[6]?5 Sj_lﬂ‘ﬁllxs

4. Answer the following questions (any four) :
10x4=40
were fra eppTges el fn (R ceien wiiRd)

(a) Explain IS and LM curve. What is the
role of these two curves in simultaneous
determination of equilibrium rate of
interest and level of income?

IS W% LM G331 141 391 | TR T4 &F
fraree 2o $fier Raa smem 41 |

(b}- Discuss the features of .IS. and LM
curves. Is the equilibrium between IS
' and LM curves always stable? Explain.

IS ¥ LM (IR CIFBRA Scemsn 341 | 1S
qF LM @R S W %1 w2
911 \

(c) “Fisher’'s Equation of exchange is a
useless truism.” Do you agree? Explain.

‘PR TR @1 el TosbE g 17
TR (o TS ST 2 W ]9
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(8)

(d) Explain critically the cash balance
approach to quantity theory of money.

WA M R OGRS 01
el

(e) Explain the impact of inflation on
production and distribution.
B W ﬁ*m @IS YAreA oer
RIRIE SN

(/ What is cost-push inflation? How can it
be controlled?

WSS WP IE Q@A 2 ’@ﬁi T
el ok 2

(g9 What are the assumptions of Hicks
multiplier accelerator interaction theory
of business cycle? How did he explained
the upswing of business cycle with it?
53 (Hicks) M 59 @5 w99 Rfdwm
SR SfeyRIPER ¢ 67 R (Hicks) €%
OGN SRS e 5ES %ﬁ-:n“— S O (AP
I 3R 2

(h) “Change in the flow of money is the sole
and sufficient cause of changes in
economic activity.” Explain.

‘1 2RTR AARTEH WA T I ARG
GG S TS FIEAD 7 WG AN

* **
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